CLASS : 12th (Sr. Secondary) Code No. 4311
Series : SS-M/2019

Roll No. SET : A

TR

ECONOMICS
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear Candidates)

Time allowed : 3 hours | [ Maximum Marks : 80
° IW AT I T & 59 FeTH T FRT gT 16 T
797 19 &

Please make sure that the printed. pages in this
question paper are 16 in number and it contains
19 questions.

. yevw#w@#w#eﬁrﬁ###gwwﬁzﬁ

JELgT.qY g
The Co@ and Set on the right side of the
que paper should be written by the candidate

front page. of the answer-book.

. ﬁﬂgwwaﬁ?/%@wgm%ﬁ#w 97 @ BHE
o797 [}

Before. beginning to answer a question, its Serial

Number must be written.
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(2) 4311/(Set : A)
o FTCYRdHE % T 7 @A g/ 97 T 881

Don't leave blank page/ pages in your answer-book.

o FuYTE % SaRad #g o 9 7@ AR o
STPTHATEr & i@ 3T frar FaT 7 e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o GOl STy T To FIF-GH YT G/asT fid)

Candidates must write their Roll Number on the
question paper.

* Y g7 & FAT 37 G g7 78 GrRad FT . [H JeT-H
g7 g @& & e # S 39 G F #HE A aar
BT & [T A3

Before answering the questions, ensure that you
have been supplied the correct and complete
question p , no claim in this regard, will be
entertai after examination.

>
Wg@&ﬁ:
(i) G JT SFaT &
(i) J@% F7 % [ERd 9% 5d @md Ry
7T 8
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(3) 4311/(Set : A)

(iii) 597 FE 1 F AAE (i-xvi) TGS FT 7 aer

T &1 JE9% FIT 1 6 F &1 MRFEr 37 oA &
Fv o

(iv) 797 q&qr 2 @ 8 % SHa-Tgaidw 997 & [

J9%F J97 2 S # & F9F F FaT TG
30 9= @ SfeF 7E & aET

(v) o7 T 9 § 16 % FITIEE 597 &S

TA9% J97 4 oJF FT &1 J9%F F FaT THTT:
60 9= @ dfdw T& &g TRy

(vi) F97 & 17 @ 19 T%. G FaHes J97 &[5

J9%F J97 6 SJH &1 F9%F F IaT TG

13065 @ it 7 dor B

$
(vig\w g g ged § SNE g YT 8

' R F @ g FaT wF & 57T T &

(viii) T HHT G, GEIIHE T G Gl T 9
g 7&l &
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(4) 4311/(Set : A)

General Instructions :
(i) All questions are compulsory.

(ii) Marks for questions are indicated against

each.

(iii) Question No. 1 is divided into sixteen (i-xvi)
objective type questions. Each question
carries 1 mark. Answer these questions as

per instructions.

(iv) Question Nos. 2 to 8 ‘are very short answer
type questions carrying 2 marks each.
Ans@&o these should normally not exceed
(bg)%ords each:

S
@ Question Nos. 9 to 16 are short answer type
questions carrying 4 marks each. Answer to
these  should normally not exceed

60 words each.
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(5) 4311/(Set : A)

(vi) Question Nos. 17 to 19 are long answer type
questions carrying 6 marks each. Answer to
these should normally not exceed 130
words each.

(vii) Internal choice is available in all long
answer type questions. You have to attempt

only one of the given choice.

(viii) Word limit is not applicable to formulae,

numericals and diagrammatical questions.

[ TGS 597 |

[ Objective Type Questions |
[T=ieiiEe Sglamedia 597 % q&) laFwed giad -

Choose the correct alternatives of the following
multiple cho'&e type questions :

Q
1. @ AR 1 a7 B 1
O
@Q%T) T I ST &l ST
S (7) amfae @

(®) % A
(37) S ¥ & F T
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(6) 4311/(Set : A)

The 'opportunity cost' means :
(A) Cost of next alternative use
(B) Real cost

(C) Total cost

(D) None of the above

(i) R ST YZRA Bl HFT FEAH & 1

Degégd of car and petrol is called :
N
Q\QZK) Complementary
S
% (B) Substitution
(C) Unit

(D) Zero
4311/(Set : A)
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(7) 4311/(Set : A)

(i) ST& AR AT I B B, A FA SQERA BN
1

%) g
q)  FOM
q) S
) T d B3 T

When marginal production is zero, then

(
(
(
(

total production will be :
(A) Zero
(B) Negative

(C) Maximum
(D) \1{@% of these

(iv)@gﬁﬁﬁm%a?ﬁh: 1
Q

QQQ\(GT) MR @5, AR 3% & T2 &rr ®
(@) @ = fed T (AR) = THNT ST (MR)
() AR feR &

(@ (3) R (@) a9 B
4311/(Set : A) P.T.O.
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(8) 4311/(Set : A)

Under perfect competition :
(A) MR curve is below AR curve
(B) Price = AR = MR
(C) AR remains constant
(D) Both (B) and (C)
(v) F=d %9 g B 7 1
(81) TC = TFC x TVC
() TC=TFC+TVC
(@) TC =TFC +TVC
(8 TC=TFC-TVC
SO o
Wl’%(} of thefollowing is correct ?
Sk
Q\Q(% TC = TFC x TVC
N}
(B) TC =TFC +TVC
(C) TC =TFC + TVC

(D) TC = TFC - TVC
4311/(Set : A)
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(9) 4311/(Set : A)
(vi) 9T Re@ <% (RBI) & ®OT g a¥ g8 7 1

(1) 1905 #
(@) 1920
(@) 1935#
(&) 1995 #

In which year the Reserve Bank of India
(RBI) was established ?

(A) 1905
(B) 1920
(C) 1935
(D) 1995 |
(vii) af MPC = 0.8 8, T. 7% & gd BN : 1
a) 1S g 2
( g\{s @)
r@‘ 4 @ s
N -
VIf MPC =10.8, then the value of multiplier
> withpe
Ay 1 (B) 2
(C) 4 (D) 5
4311/(Set : A) P.T.O.
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(10) 4311/(Set : A)
[T #o7 @& & a7 T, AT

State whether the following statements are true
or false :

(viii) ‘P aegell’ oX A & e arg e B 1
Law of demand is applicable on 'Giffen

goods'.
(ix) & TCEI 9 TH-GER &l HT T ol 1

Two indifference curve can cut each other.
(x) Hed SEA H FEH P R A A Bl 1

Law of diminishing returns. is applicable on

agriculture.

(xi) UHER H HiFd, HEm qEd & 99 et 81 1

Un@onopoly, price is equal to marginal

<

(@%,mamam% 1
$

(xiii) @Nad T g%k, HAT 95 i FHeawr Bl 1

Supply can exceed stock.

AR curve is also called demand curve.

4311/(Set : A)

\PERS at StudentSuvidha.com


http://www.bsehonline.com
http://www.bsehonline.com
http://www.bsehonline.com
Free Hand Highlight

Free Hand Highlight

http://studentsuvidha.com/
http://studentsuvidha.com/

(11) 4311/(Set : A)
(xiv) YT W, AER ¥ F foEgd gron B 1

Balance of payment is broader concept than

balance of trade.
(xv) @ el H fer fafvmg ) o S R 1

Fixed exchange rate is found in all

countries.
(xvi) UEIT 1 W6 TF o § i feam oier 81 4

Stock of petrol is included in national

income.
[ S-S 997 |
[ Very Short Answer Type Questions ]
2. e @ Aifqes Herer gEwE gk S 2
State the material welfare definition of economics.
K&Q
3. % G N 2
S
t is demand function ?
N
4. ®H. & G Bl S R 2
Write down the conditions for equilibrium of the
firm.
4311/(Set : A) P.T.O.
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(12) 4311/(Set : A)
5. BT 3T & & I3 AT 2

Give two examples of transfer payment.

6. JAE® &Ik § FT M § 7 2

What do you understand by tertiary sector ?

7. SRR Sl IR i 2

Define Oligopoly.

8. TElel [amT &Y & gRHmT o 2

Define flexible rate of exchange.

[ IS A9 ]
[ Short Answer Type Questions ]
I
0. Ry TEHHS M WA A () FW A0 AW, (i) %W
i v, (i) ofHd S @ra aen (iv) ofed
SiRadsie A S B 1+1+1+1=4

SaE(3Fa) | o | 1 | 2| 3| 4| 5|6

%w A (3) | 40 | 80 | 110|126 | 128 | 135 | 140
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(13) 4311/(Set : A)

Calculate (i) total fixed cost, (ii) total variable
cost, (iii) average fixed cost, and (iv) average

variable cost with the help of the given data :

Production (Units) | O 1 2 3 4 5 6

Total Cost (3) 40 | 80 |110|126|128 135|140

10. ‘THIEHR T Qi Sfeifiar & #1377 A=K SRl 4

State any four differences between 'monopoly’

and 'perfect competition'.

11. wﬁmﬁ@w%ﬁwg@ﬁwﬁwﬁ%@ 4

Define r&h‘iq%poly and state its main features.
&

S
N -
12.@’@‘&%3@@&&@%% 4
Differentiate between 'intermediate' and 'final
goods'.
4311/(Set : A) P.T.O.
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(14) 4311/(Set : A)

13. %59 9% & el g7 HE & a0 B 4
Explain any four functions of Central Bank.

14. ‘@ e qer YR [ § FwR W B 4

Differentiate between 'autonomous investment'

and 'induced investment'.

15. Hifsk AT & JeF gl B aoH H| 4
Explain the main components of monetary
policy.

16. TIHA S H1 F1 96w & ¢ 4

What is the importance of government budget ?

e IS 9 |
~
[ g Answer Type Questions ]
&Q‘G
17.@%ﬁaﬁmaﬂaz€rwﬁﬂwé‘| SHHI AU & AT

fafer a1 = #1 2+4=6

Define price elasticity of demand. Explain the

proportionate method to measure it.

4311/(Set : A)

— o noua i NOTES and PAPERS at StudentSuvidha.com


http://www.bsehonline.com
http://www.bsehonline.com
http://www.bsehonline.com
Free Hand Highlight

Free Hand Highlight

http://studentsuvidha.com/
http://studentsuvidha.com/

(15) 4311/(Set : A)

st
OR
T M A e 7 de FRM A Ar e e P 2+44=6

What is law of demand ? Why does this law

operates ?

18. T uRAFT Bl @ed € ? qo ufRifEr H ofeueis
Refer & w1 & G @ dF [ SR ere )
2+4=6

What is perfect competition ? Discuss shortrun
equilibrium of the firm in perfect competition by

marginal approach.

YT

&
(§§
‘@@w’w‘gﬁﬁgﬁﬁwﬁmﬁma
%Wl 3+3=6

Distinguish between 'extension of supply' and

OR

'increase in supply' with the help of diagrams.
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(16) 4311/(Set : A)
19. TG A & 799 ‘g O & e Hie 6

Explain the 'expenditure method' of measuring

the national income.
AYqT
OR

T ST B AN H ST [ty & e &3 6

Explain 'income method' of calculating national

income.

&
$
Q\QQ}

N
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